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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

It'f" denotes the ratio of the number of nuclei decayed (N ;) to the number of nuclei at t=(
(N;) then for a collection of radioactive nuclei, the rate of change of ’f" with respect to time is

given As!

[\ is the radioactive decay constant]

Options :
) —de M

2. he™M

o Ml—™
, —=xll—e™™

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

) =hegt M

5. }\E_M

, Ml—eM)

. —k{l—~e™H)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Young's double slit experiment, if the source of light changes from orange to blue then :
Options :

: the intensity of the minima will increase.

, the distance between consecutive fringes will increase.

2 the distance between consecutive fringes will decrease.

the central bright fringe will become a dark fringe.
4.

Question Type : MCQ Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

72-«7 fafRy Qe afv T SICAIg 92 S (A0E e 28 Od

Options:

. Segega Afha SFel AW |
, “fb-7a ArweA|

5 AfG-734 I

, e Tege #ifb seEge “Afbrs #ifies 26|

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The relative permittivity of distilled water is 81. The velocity of light in it will be :
(Given p, =1)

Options:

, 3.33x107 m/s

107

, 4.33X10" m/s
107

3 0.33x10” m/s

, 2.33x107 m/s

Question Type : MCQ Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

ey e faRieTen (afiibielh) T 81 20, €2 STA SIe aferaesm T :

Options :

7
, 3.33x10” m/s

, 4.33x107 m/s
, 5.33x107 m/s

7
4 2.33x10° m/s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R=100Q
N\ WW
100V 1 C=1yF

A capacitor of capacitance C=1 pF is suddenly connected to a battery of 100 volt through a
resistance R=100 (1. The time taken for the capacitor to be charged to get 50 V is :

[Take In 2=0.69]
Options :

;. 0.69x107%s

, 0.30x 10 g
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;3 1.44x107 % s

4 BA3XI0 s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
R=100
X WN
]OOV# T C=1pF

& C=1 uF 4RRTSR 4 oM iy 100 V 3BIR 702 100 () (e T 3@ 391 1| Tl
T & YT 4 A 494 50 V 7 O T |
(474 (A9 (@ : In 2=0.69)

Options :
;. 0.69x107 %5
, 0.30x 10" *g
5 1.44x107% s
4 333X 10 s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 007 H inductor and a 12 () resistor are connected in series to a 220 V, 50 Hz ac source.

The approximate current in the circuit and the phase angle between current and source

22
voltage are respectively. [Take 7 as 7]

Options :

8.8 A and tan_l[%)

1.

0.88 A and tan ! [EJ
2. 6

88 A and tan_l[%)

3.

1( 6
8.8 A and tan aaile
an [11)

4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
& 0,07 H e «@¢ @@ 12 0 @ &) 220 V, 50 Hz TR el oft Forid 3@ 91 741

# 2
8% TEA 9T €32 R ' TR T AR T A v & T - ]

Options:
8.8 A @32 tan—l[ﬂ)
1. 6
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0.88 A €32 tan ! [1—61}
88 A @32 tan_l(l—;J

8.8 A @32 tan—l[iJ
4, 11

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A light cylindrical vessel is kept on a horizontal surface. Area of base is A. A hole of cross-
sectional area ‘a’ is made just at its bottom side. The minimum coefficient of friction necessary

to prevent sliding the vessel due to the impact force of the emerging liquid is (a << A) :

Options :
d

1. A
2a

2. A
A

3 2a _
' collegedunias



4. None of these

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&3l 2% 411 (T #0E O A1 R | P (et 7 Al AT el @3l ‘ol (e
fof¥ fow wR) #iita wrem A Piw i qees TE O A We ow g e
ofiaf 5o 3128 204 7 (a << A):

Options :

8
1. A

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegeduniag



In the given figure, a battery of emf E is connected across a conductor PQ of length I and

different area of cross-sections having radii r, and 1 (1, <,).

_|__

[

E K

Choose the correct option as one moves from P to Q :

Options :

: Drift velocity of electron increases.

» Electron current decreases.
3. Electric field decreases.

4 All of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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i @l @ 34 P (@7e Q & o AR W :

Options :

SCRhea fGeh aifecast 3 #im

1.

, 2R YR T A

, OIGR (A AR IFL ATS

,, A 4G S AW

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two capacitors of capacities 2C and C are joined in parallel and charged up to potential V.
The battery is removed and the capacitor of capacity C is filled completely with a medium of

dielectric constant K. The potential difference across the capacitors will now be :

Options :
V
1. K

;
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2C &2 C 4 <P 7y RT3 TR I 7 30 V Rer Wizs a1 21 @ iy
T T3 C AR 7% T8 3R (SRR gt < K “RTepe % RIvG ol St i
Tl O 391 %1 T 9% 4IR% W A A9 e Arerw W |

Options:
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the reported figure, a capacitor is formed by placing a compound dielectric between the
plates of parallel plate capacitor. The expression for the capacity of the said capacitor will

be : (Given area of plate=A)

GGG

K| 3K XK
<—d—><—2d->¢—3d->
Options:
25 KEDA
1. 6 d

15 KegA
, 34 d

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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foatpTs oy e o Aed el ofem wRiRmpe e frrd o o1 3R] @R gl A
EerRD |
(7R B el e = A

C1 CZ C3

K| 3K |5
«d>«2d->3d-
Options :

25 KegpA
. 6 d

15 KegA
, 34 d

9 KepA
3 6 d

15 KggA
. 6 d

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle starts executing simple harmonic motion (SHM) of amplitude ‘a” and total energy
3E
E. Atany instant, its kinetic energy is T then its displacement ‘i is given by :

Options: .
P collegedunias



y=a
2 2

g B3
3, 2

y=a

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

iy T o Foge e oo 7 F 72 e 7 offe o e | R ez o e %iaw

O T T

Options :

=B
L2

y==
2. 2
)
3, 2
. y=a
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical tennis balls each having mass ‘m" and charge ‘q" are suspended from a fixed
point by threads of length ‘T'. What is the equilibrium separation when each thread makes a

small angle ‘8" with the vertical ?

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘mf O @R e o oy o G e 1 e 2 OO R o 2P (40 IR
191 200 | 3 O B 3 ) (1A 09 €8 0 (TR ARl ) 2% 3 TR 3 g

T 9 9 W
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Options :

X = ! 5

. 2mggm°g
(g1 )8

, 2megmg
(g1 YA

; 2megmg

q2 I2 %

T 2me ngz

4, L

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the reported figure, there is a cyclic process ABCDA on a sample of 1 mol of a diatomic

gas. The temperature of the gas during the process A — Band C - D are T; and T,
(T, > T,) respectively.

P

A

5P, -+

...................................

0"V, 15V, 35V, 55V, V

Choose the correct option out of the following for work done if processes BC and DA are
adiabatic.

Options :
. Wee+Wpa >0

, Was<Wep

3 Was=Wnpc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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aRpiTa ABCDA %71 1 (W il oMo 56 2@l A — B €22 C - D s wgba
T JEA T, 6 T, (T, > T,) T

A

3,

0" V), 15V, 35V, 55V, V
A BC a DA 6 3t o 2 wrd i feamafe oy goada e g )

Options :

N WBC+WDA >

, Wap<Wcp

. Wap=Wpc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A body takes 4 min. to cool from 61°C to 59°C. If the temperature of the surroundings is
30°C, the time taken by the body to cool from 51°C to 49°Cs :

Options:

1. 3 min.

:
gcollegedunlaé
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
il % T 61°C (3 59°C & e 4 i W G| 3 5 @i 30°C B W 51°C /I

49°C ¢ VS T 76 T G )
Options:

1. 3 min.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of molecules in one litre of an ideal gas at 300 K and 2 atmospheric pressure
with mean kinetic energy 210" | per molecule is :

Options:

. 075X 104

gcollegedunlas
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, 1.5x 101
3 3104
4 16CTGH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

300 K ST 3¢ 2 T B &y S o affelh e o1 e Al 2x 109 R W
1 foloR €% A7 B e

Options :
el
, 1.5x 101
3 B0

4 16 X0H

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Assertion A:  If A, B, C, D are four points on a semi-circular arc with centre at ‘0" such

—

that |AB| = ‘BC| = ‘CD , then

—_— — - - —3 —

AB + AC + AD = 4A0 + 0B + OC

Reason R:  Polygon law of vector addition yields

—_ = - - —

AB +BC + CD = AD =2A0

B C

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :
Both A and R are correct and R is the correct explanation of A.

5 Both A and R are correct but R is not the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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—_ — —

WeA: A,B,C,D ¢ o @ ‘0 o ot 5l o 2 @ |AB] = B = |CD)

—_ = = — — —

W4 AB + AC + AD =4A0 + 0B + OC.

—_ — — — —

FRAR: (V3T QAT e TV %, AB + BC + CD = AD = 2A0.

A—3
B €
BTG AR Fefare Tl SRy s 24 :
Options :

. A @32 R732 A% €32 R 29 A &3 AF 774711
, A @32 RY22 < 8 R, A @7 A& an4r 741

5 A% 5% R 0% |

. A 7 7 R =

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The figure shows two solid discs with radius R and r respectively. [f mass per unit area is
same for both, what is the ratio of MI of bigger disc around axis AB (which is L to the plane
of the disc and passing through its centre) to MI of smaller disc around one of its diameters

lying on its plane ? Given M is the mass of the larger disc. (MI stands for moment of inertia)

A

Options :
| 2RZ o

5 R2 : 12

3 OR% . 14

4 215 R%

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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foc@ R @2 ¢ IR 7 o e oracen 23R | i e ofs ¢ Crawre o1 T
A TG BAeA AB W (R BT (@ TS BRAeTbA ST o %) AT WG] I R
() BN €T AR TS T ST Spe 304 ¢ (gl SR ‘M. 9 Wil A )

A

)

Options :
| 2Ryt

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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List- 1 List - II

(a) MIof the rod (length L, Mass M, about an axis L to therod (i) 8 ML%/3
passing through the midpoint)

(b) MIof the rod (length L, Mass 2M, about an axis L to the rod (i) ML2/3
passing through one of its end)

(©)  MIof the rod (length 2L, Mass M, about an axis L to the rod (i) ML%/12
passing through its midpoint)

(d) MIof the rod (length 2L, Mass 2M, about an axis L to the rod (iv) 2 ML?/3
passing through one of its end)

Choose the correct answer from the options given below :

Options :

;. (@)=(iii), (b)-(iv), (c)-(1), (d)-(ii)
,, @)-(iii), (b)-(iv), ()-(i1), (d)-(1)
5. (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

5 (@)-(ii), (b)-(iii), (c)-(1), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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wferd - 1 &7 7% wiferat - [1 (TeM8

wferat - | wferat - 11

(a) @ oA TG aNF (7 L, & M @R oA N @& () 8 MLY/3
% O CCH)

b) «alb R oY ave (7 L, o oM @@e el ke @ah () MLY/3
% O CCH)

) @0 TG TS (07 2L, 9 M @2 WA I (i) ML2/12
&l 7% T ATH)

(d) @ %A TG wwe (U7 2L, ©F 2M ¢33 e AR (v) 2ML%/3
&l 7% T ATH)

o Ty 2 ;

Options:

, (@)-(iii), (b)-(iv), (0)-(1), (d)-(ii)
, (@)-(iii), (b)-(iv), (¢)-(ii), (d)-(1)
5. (@)-(iD), (b)~(1), (0)~(iid), (d)-(iv)

5, (@)-(i), (b)-(ii), (c)-(i), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Three objects A, Band C are kept in a straight line on a frictionless horizontal surface, The
masses of A, Band Carem, 2mand 2 m respectively. A moves towards B witha speed of
9m/s and makes an elastic collision withit. Thereafter B makes a completely inelastic collision

with C. All motions occur along same straight line, The final speed of Cis :

A B C
m| [2m| [2m

Options :

, 6m/s

, 3m/s
; 4m/s

. dm/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oy 78 A, B & C (3 6@ P FGhG I G7R &Ml TRAHI KA I 7| A, B @&
C3 % W& m, 2 m &% 2ml A9 m/s @A B (& 471 0 «Re @ 7o o efemeras o

W @ /B3 CI P e W I e’ Ry @ke Rsfve |
C Fha 9w @51 :

A B C
m| [2m| 2m
Options :
6m/s

1

;
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aball is thrown up with a certain velocity so that it reaches a height 'h'. Find the ratio of the

h
two different times of the ball reaching 5 in both the directions,

Options :

V3 -2
. N3 +A2

3 =1
, B3 +1

w
W=

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 .
collegedunias



tikaedvathok ke vcelow el i feol okl e cle %

T 78 TG (A0 (418 TR O ST

Options:

V3 =42
. 3 +42

(\‘

3—1
, 3 +1

w
W | =

%

L A

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A:  If in five complete rotations of the circular scale, the distance travelled on
main scale of the screw gauge is 5 mm and there are 50 total divisions on

circular scale, then least count 1s 0.001 cm.

Pitch
Total divisions on circular scale

Reason R : Least Count =

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

gcollegedunlaé
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: Both A and R are correct and R is the correct explanation of A.
5 Both A and R are correct and R is NOT the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wil A: 3 R Pl (R €l TSR JOR (7 Y BT AT 5 mm 04 IR

&8 TG FTR T 761 H¢ 50 B @A 9 o 0,001 R

i
TR WA R am
GO ST AT A0S (R ey T ] o )

Options :

A @33 R 733 0% @a2 R 26 A @3 A0S Tl |

1

, A @32 RY22 M 8 R, A @7 AIs anam =)

;. A% fog R w131

. A% 5% R 5|

;
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Suppose two planets (spherical in shape) of radii R and 2R, but mass M and 9 M respectively

have a centre to centre separation 8 R as shown in the figure. A satellite of mass ‘m’ is
projected from the surface of the planet of mass ‘M" directly towards the centre of the second

planet, The minimum speed ‘v’ required for the satellite to reach the surface of the second

planet is ﬂ% % then the value of ‘2" is .

[Given : The two planets are fixed in their position]

-
-

8R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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41 7% TGN R @22 2 R AP @@ M a2 9 M Sl i (1T 5% 7R (7% (203 8 R
TR BT R R R G GRS (T o A (7 o et (T 7 e

(3% TR W ) /-4 A S e v 4 e v o o [ ?ﬂ_ﬁf .

4 T | (SR ol 4
[ 9% 5% 1> 9 T 9 0]
| 8R }

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a uniform magnetic field, the magnetic needle has a magnetic moment 9.85 X 10 -2 A/ m?

and moment of inertia 5% 10~ kg m%. 1f it performs 10 complete oscillations in 5 seconds

then the magnitude of the magnetic field is mT. [Take 72 as 9.8))

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
collegedunla



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
<l T (Y @ 985 % 1072 A/m? (R &9 €32 5% 106 kg m? 019 I e

(R YT QAT SR | €& ey 4 5 5 T 10 Jf e P 74 O3 2078 (P (0
T T3 m], [ 7 & ¥ 98]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A stone of mass 20 g is projected from a rubber catapult of length 0.1 m and area of cross

section 1070 m? stretched by an amount 0.04 m. The velocity of the projected stone is
m/s.

oune’s modulus of rubber=05x10° N/m?
&

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText Qcollegeduniag



Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Gl e 9 AT 07 0.1 m @3 AFTROR (5 100 m? | @b 0,04 m (BEA 20 g 79
R RS (10 TR 4R e e @ sferrs (W 2 9 m/s (9
RIS

(AT 32 @M =05x10° N/m?)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transistor is connected in common emitter circuit configuration, the collector supply voltage
is 10 V and the voltage drop across a resistor of 1000 2 in the collector circuitis 0.6 V. If the
current gain factor (B) 1s 24, then the base currentis _— pA. (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

g3l el eGSR TS Haee A 47 f7ed 10 V @3 fbod A0 3% 1000 O
QIR 73 2% o3 /e W 0.6 VI 3 437 S (19%7) @90 (B) 24 2 O3 W 232
pA (o e

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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A prism of refractive index n, and another prism of refractive index n, are stuck together
(as shown in the figure). n, and n, depend on A, the wavelength of light, according to the

relation

-14 14
10.8><210 and 1y = 145 + 18x10
A

m =12+ Az

The wavelength for which rays incident at any angle on the interface BC pass through without
bending at that interface will be nm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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T n, 38 n, 2153 g ¥ o foram m el 141 0% | AR A . @
A n, 9 n, &8 T 2 :

14 14
18 %10
o =124 X0 ey =145+
\2 2

(3 SRR SR S BC 478 U] STveel (Tl 3 (T e g el 63 See
I (3 e 28 o O nm, (SR e W547R)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle of mass 9.1 x 10! ke travels in a medium with a speed of 10° m/s and a photon
of a radiation of linear momentum 1027 kg m/s travels in vacuum. The wavelength of

photon i times the wavelength of the particle.

Response Type : Numeric

Evaluation Required For SA : Yes gﬁgﬂgsgmfﬂ}fﬂﬁf



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9.1x 103" kg @ faiE @afh 391106 m/s %fe oy oty ey of oAl @2 102 kg m/s Cafda
T @UR € @ 47 T oA | (IR ) 3 SRR T
a |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radioactive sample has an average life of 30 ms and is decaying, A capacitor of capacitance
200 uF s first charged and later connected with resistor ‘R'. If the ratio of charge on capacitor
to the activity of radioactive sample is fixed with respect to time then the value of 'R’ should
be (0.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Equal
Qcollegeduniag



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

&5 30 ms o0 Y faf (oY (A faufle | AT G5 200 uF AR RS WIS
A 4@ (@4 'R ¢ A @ 99 TR X M ACATH G99 T ARl S (Oaw
TR e WP 9 AE O (IR R VW Tl (), (B 9 74)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In Bohr's atomic model, the electron is assumed to revolve in a circular orbit of radius 0.5 A
If the speed of electron is 2.2 105 m//s, then the current associated with the electron will be

2
X102 mA. [Take 7 as 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

Qcollegedumag
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(AT RWEG TP <305 TG 05 A AT s o s o S B

)
22X10° /s B R R x0T mAl [ &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider an electrical circuit containing a two way switch ‘S', Initially S is open and then T,
is connected to Tz- As the current in R=6 () attains a maximum value of steady state level,
T, is disconnected from T, and immediately connected to Ty, Potential drop across r=3 ()
resistor immediately after T, is connected to Tyis V. (Round off to the Nearest

Integer)
R=6{) TZ..{' :]"3

[ ]
L

L

q |0

3()

Response Type : Numeric

Evaluation Required For SA : Yes

gcollegedunlag
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 TR TGO @R 725 S T [ b A QAT A | 44N S @ (41 I 74 8 ORAE
T,, T, 9 04 7Y@ 31 1 6 () (AR W04 Fcg 41 53 s o4 T, 3 T, e o <t
AT T, &8 TR IE TN T, (3 T, 3 310 TG 919 1038 =3 () & ARard F<eq 40etes W

_________ VI (S A TeLm)
R=60 T, T,

1

— §LT
it

T Dr=3!l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Qcollegedunlag
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The amplitude of upper and lower side bands of AM. wave where a carrier signal with

frequency 11.21 MHz, peak voltage 15 V is amplitude modulated by a 7.7 kHz sine wave of

5 st 5 . vy, e st 2
amplitude are 10 an 0 respectively. Lhen the value 0 blS .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
15 V R @22 11.21 MHz 3143 P8 126 &e 5 V 191 ¢3¢ 7.7 kHz 789 74799

WA TR e (m)wﬁmmmeﬁﬁﬁ@mﬁ@mm%v Uk

bV|aW?{ |
THE L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Chemistry Section A

Section Id : 864351826
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 8643511053
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The parameters of the unit cell of a substance are a=25, b=3.0, c=40, a=90°, p=12(,
y=90°. The crystal system of the substance is :

Options:

1. Triclinic
Hexagfmal
2.

3. Orthorhombic

4. Monoclinic

Question Type : MCQ Is Question Mandatory : No

gcollegedunlag
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Correct Marks : 4 Wrong Marks : 1

Gl LT @ (@R AP a=25, b=30, c=40, a=%", p=120°, y=90°. e @
(3 (1S ¢

Options :

| Taeers
5 ToCR!
5 Sl

5 ATl

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I:  Rutherford’s gold foil experiment cannot explain the line spectrum of

hydrogen atom.
Statement I1:  Bohr's model of hydrogen atom contradicts Heisenberg's uncertainty
principle.
In the light of the above statements, choose the most appropriate answer from the options
given below :
Options:

1 Both statement I and statement II are true.
> Both statement I and statement II are false.

3 Statement I is true but statement II is false.

gcollegedunlag
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4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s b g cred TR

Rafe 1: ARG efora o2 2R0GUen Ao a1 i Q40 9 A 0
fafe11:  carem 2iErgen ommq TOvA gRrea S Al feearel 3|
ot fegfomyrag SITacs, A0S 21ve orwafa (s e 3y Sl o s

Options :

| e 1 @ fgfe 11 T A

, afe 1 @3 fa3fe 11 Terae g
, Tfe 17w fog ffis 11 o
, [<fe Igat g ffs 11 o

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For a reaction of order n, the unit of the rate constant is :
Options :

. m:}ll_“ Ll—n 5—]

gcollegedunlag
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moll npl-ng

3 moll —n L211 5—1

4 rm}ll_" Ln—] S_]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n @ufE @3 fEam afesm Faea v
Options :

. mﬂll_n L]—n S—]

, moll Rl Rg

3 n‘u}ll_" LZn 5—1

4 mﬂll_n Ln—] S_]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - II ;

List - I List - II
(a) NaOH () Acadic
(b) Be(OH), (i) Basic
() Ca(OH), (i) Amphoteric
) B(OH)
(e) Al(OH),

Choose the most appropriate answer from the options given below :

Options :

;. (@)-(ii), (b)-(), (c)-(ii), (d)-(iid), (e)-(iii)

, (@)-(i1), (b)-(ii), (c)-(iii), (d)-(5), (e)-(ii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunlaé
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SifeTl - 1 O 55 Sifera - 11 (Nels -

Siferat - 1 siferat - I
(@) NaOH (i) ES
(b) Be(OH), (i) R
() Ca(OH), (i) TS
(d) B(OH),

() Al(OH);
A e vl (2ArE AL I TEd’ @z TS

Options :

;. (@)-(ii), (b)-(), (c)-(ii), (d)-(iid), (e)-(iii)

, (@)-(i1), (b)-(ii), (c)-(iii), (d)-(5), (e)-(ii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statement that is INCORRECT about Ellingham diagram is :

Options:

, provides idea about reduction of metal oxide.

5 provides idea about the reaction rate.

:
gcollegedunlaé
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, provides idea about free energy change.

, provides idea about changes in the phases during the reaction.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aferezy foa faacw @ {gfelt oe -
Options:

| AR SIZCTR fAGTR T qell o

, e sifs e arzen om

, TS *&q 836 A q=ef o7

, TAfer Garelate) eI <hefiga faaea 4l o

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The procuct obtained from the electrolytic oxidation of acidified sulphate solutions, is :
Options:

, HO,5050,H

, HO,S0S0,H

HO,500S0,H
3.

gcollegedunlag
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e s waced oo waq afery ae Termwar oe ¢

Options:

_ HO,5050,H

, HO,S0S0,H

HO,500S0,H
3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A:  Lithium halides are some what covalent in nature.
Reason R:  Lithium possess high polarisation capability.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

: Both A and R are true and R is the correct explanation of A

gcollegedunlag
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, Both Aand R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4 Ais false but R is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B 7o e (red TR €@l & A R iz 6 ST el R =27 fofzee :
A oAl 2Ry @eeErE (IO W 2 RS A

FIRAR: AR B R el AR

o FRfemren Svas, s o4 el (e Feverw e Tedlh (g 716 :

Options:

A @32 R TerEE oS a2 A -9q % e R

1

, A @3¢ R TeaR S 5% A - @9 F0F 7 R

, AT fFB R &=

A g R AR

4

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The oxidation states of ‘P in H4P207, ILI4PEO5 and H4P206, respectively, are :

gcollegedunlaé
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Options :

. 6, 4dand D

5. 5 4 and 3
3. 5 3 and 4

, 7,5 and 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H,P,0,, H,P,0, ¢3¢ H,P,0, SPRLE ‘P &7 GRAPIR TG :
Options :

. 6,4 935

, 5,4 @323

, 5,3 @324

, 7,5 9326

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The type of hybridisation and magnetic property of the complex [MnClJ*~, respectively,
are .

Options :

1.

gcollegedunlas
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d’sp? and paramagnetic
sp>d? and diamagnetic

2.

N sp°d? and paramagnetic

N d%sp® and diamagnetic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[MnCl, ]~ &ifba (5l SR 7eamel 2357 @2 (61 of I

Options :

| d%sp3 @R AREIN
, spPd? @2 THpERI
, spPd? €2 RIS

, d%sp? &8 TpERIY

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The number of geometrical isomers found in the metal complexes [PtCL(NH,),|, [Ni(CO),],
[Ru(H,0),CL] and [CoCl,(NH,),]* respectively, are

Options : Qcollegeduniag



1,4, .4
20,92
21,84

21,32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[PCL(NH,),|, [Ni(CO), ], [Ru(F,0),CLy] €& [CoCL,(NH,),|* 41gq Bt qwtafere wmfifes
T TR INGCA

Options:

4,1, 4,4

,2;0,2.2
. 21,81

.21,32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is NOT correct ?
Options :

, The dissolved oxygen concentration below 6 ppm inhibits fish growth

gcollegedunlas
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5 Eutrophication indicates that water body is polluted
, futrophication leads to increase in the oxygen level in water

A Eutrophication leads to anaerobic conditions

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
eea @1 f3fe Afos 717 2
Options:

| TGS WS 916 6 ppm @9 I 20 WA TR TS 2

, 2TCIRPCT S R e e
. RGRIRFCST S SPICECA Wl A

, RUGIRFCII SIS *eifw 51T COIes

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one among the following chemical tests is used to distinguish monosaccharide from
disaccharide ?

Options :

1. Seliwanoff's test

:
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», Barfoed test
3 Tollen’s test

4. lodine test

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TAIRIAIE (A% TR %2 e F7e A0 T3 TR ) I9%e 2 !

Options:

| CTfeTerces #qmH

, AECFICAS “qH1
3 DCEICE #qHl

4. SICEITG A1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Staggered and eclipsed conformers of ethane are :
Options :

1. Rotamers

Mirror images
2.

gcollegedunlag
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3. Enantiomers

A Polymers

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT SF12% (FBr9TE) A2 9% () S

Options:

, CATBTA
, Wl eifefae
;. Hfelds sE

4 AT

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

)

CH,

@ @ @
CHZ - CH CH3 — CH2 HCEC

A B % D

The correct order of stability of given carbocations is :

Options :

1. D>B>C>A gcollegeduniag



, A>C>B>D
, C>A>D>B

. D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@

CH,
@ ®
CH2 = CH CH3 == CH2
A B C
4G FAHHR SRR FIkced AF &
Options :

, D>B>C>A

, A>C>B>D

, C>A>D>B

L D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Rt

gcollegedunlas
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Presence of which reagent will affect the reversibility of the following reaction, and change it

to a irreversible reaction :

B, 14

Reversible

CH, +1;

Options :
1 Concentrated I—IIO3

,, HOCI
, Liquid NH,

dilute HNO,
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(@ [T oI AR fefel srrae! sfcan v Wiy el fafe Godt 90

CH4+IZT=~W:®CH3—I+HI

Options :
oG HIO,
1.

, HOCI

w9 NH,
3.

, T HNO,

gcollegedunlaé
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following compounds will give orange precipitate when treated with

2 4-dinitrophenyl hydrazine ?

Options :
O
I\CH3
1.
o)
Ki::rcH;,l-:H3
2.
OH
OCH,CH,
5 O
O
(lzl—OH
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 .
collegedunias



2 A-GRTRTgRETE 2R e 70 fRIGRIR e (] (3ol e 099 aeTaA ot 9 )

Options :
O
I\CH3
1.
o)
Ki:)c:HECH3
2.
OH
OCH,CH;
5 O
O
& —on
4 OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunlag
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H3PO4 A 9
120 C (Major Product) Hy0,/OH, H,0

Consider the above reaction and identify the Product P :

Options:

CH; OH

C
<

OH

Y

(BHs)

>

P
(Major Product)

gcollegeduma



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OH

H,PO BH
POy 5 B | P
120°C (ﬁ&ﬂ?{ ‘@Qﬁﬂw ) HzOz/ OH, HQO (ﬁfﬂ?{ @Qﬂﬂﬁ)

Boreg fafaafs e 99 @3e Geomed P fifze 39

Options:

CH; OH

CH;

i ~OH
3.

OH

gcollegedunlag
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I:  Aniline is less basic than acetamide.

Statement I :  In aniline, the lone pair of electrons on nitrogen atom is delocalised over

benzene ring due to resonance and hence less available to a proton.
Choose the most appropriate option :
Options:

1 Both statement I and statement II are true.
, Both statement I and statement II are false.
3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s 1l e rewl TR ¢

Rafo1:  sofimiEres oo nfefer a e

fegf 11 o e e “RwIeR e QUat- (oG e oo ( CTIGne) B (316
TR fe55 A 4R T (AT &) W el

wrst v e g 16

Options :

| T 1 @3¢ fagfe 11 T A

gcollegedunlag
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, Te3fe 1 3z fgfe 11 Tera g
, [3fe 1w fom fagfe g
4.1%7{%1@%@1%?{%11%

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List - I List - II
(Drug) (Class of Drug)

(a) Furacin (1)  Antibiotic

(b) Arsphenamine (ii) Tranquilizers

(c) Dimetone (i1) Antiseptic

(d) Valium (iv) Synthetic antihistamines

Choose the most appropriate match :

Options :

;. (@)-(iii), (b)-(), (c)-(v), (d)-(ii)
, (@)-(D), (b)-(iii), (c)-(v), (d)-(i1)
5. (@)-(i), (b)-(3), (c)-(ii1), (d)-(iv)

;. (@)-(ii), (b)-(iv), (0)-(ii), (d)-(1)
gcollegeduniaé



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CifeTa - I @9 3% Sffera! - I1 (Ve1s

Sifera - 1 Siferat - 11
(8gY) (sgeed cufen)
(@) TR (i) SFGAES
(b) SR (i) e
(c) fecacom (i) =mFooEhe
(d) enferEm (iv) TCaf¥e GBI
sfrerw g ferfs @z w8 -
Options :

;. @)(iii), (b)-(1), (c)-(v), (d)-(ii)
o @-(), (b)-(ii), (c)-(iv), (d)-(i1)
5, (@)-(), (b)-(1), (0)-(iii), (d)-(iv)
5, (@)-(iid), (b)-(iv), (0)-(i), (d)-(1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunlag
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The compound ‘A’ is a complementary base of in DNA strands.
Options:
1. Guanine

, Adenine

3 Cymame

4. Uracil

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O
H,C | N
T/KO
H
(A)
‘A’ @915 DNA wce 93 @3 7 =5 |

Options :

gcollegedunlag
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Chemistry Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

864351827
4

Online
Mandatory
10

5

20

Yes

1
8643511054

Yes
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The density of NaOH solution s 1.2 g cm ™. The molality of this solution is m,
(Round off to the Nearest Integer|

[Use : Atomic masses: Na:230u O0:160u H:1.0u
Density of H,0: 1.0 g em™]

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

¢3f NaOH %207 919 12 g com =31 &R WAy m| (fRRheH i)
[@10% #9018 : 7Iwee @ :Na:230u 0:160u H:10w

R g Hy0: 10 g em ™)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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The difference between bond orders of CO and NO® is

off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X
0 «a¢ NO® @ 7 T o = 70 1= | (bR 9etmem)

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X
E where y=

. (Round

Qcollegedunlag
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For water at 100°C and 1 bar,

Avap H—Avap U= X102 ] mol =, (Round off to the Nearest Integer)

[Use : R=831] mol 'K~ ]]

[Assume volume of HyO(l) is much smaller than volume of H,0(g). Assume H,0(g) can be

treated as an ideal gas|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
100°C &% 1 bar 01 & A, H-A,, U= X102 ] mol =11 (b #piea)

(375 N8 : R=831] mol ' K7

(47 8 H,0(1) & e H,0(g) ¢ (3 53 3| H,0(g) & S a1 2910 R 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0 .
collegedunias



146 g of a biopolymer dissolved in a 100 mL water at 300 K exerted an osmotic pressure of
242x1073 bar.

The molar mass of the biopolymer i x10* g mol ™%, (Round off to the Nearest
Integer)

[Use : R=0.083 L bar mol~1 X~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
300 K @71aR 100 mL ¥ a5 (9 ofemiae 1 46 g BaIge T0a0% | BT ST 2,42 x 103

bar,

(& iy e = x10* g mol -1, (RN AeHea)

(@G #9718 R=0,083 L bar mol 1 K71

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Qcollegedumag
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Correct Marks : 4 Wrong Marks : 0

PCly = PCL+Cl, K =1.844

3.0 moles of PCls is introduced ina T L closed reaction vessel at 380 K. The number of moles
of PCly at equilibriumis _ x10~ 3, (Round off to the Nearest Integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

PCl, = PCL+Cl, K =184

380 K ORI 1 L SReC &b W Tl 41 5.0 (T PCl 4f<8 el 21 Marag PCl
G (& F4 X103, (frben spfieam)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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The conductivity of a weak acid HA of concentration 0,001 mol L™ is 20x10™Sem ™, If

A{;n(HA):1908(:1‘112 mol™!, the ionization constant (K,) of HA is equal to

X108, (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
&ahh & i HA -93 0,001 mol L~ aT5y Raizer s 2.0%1075 S cm ™11 3

A (HA) =190 S cm® mol ™ %0 79 HA ~6% T £33 (K ) X106 (feben

GRSl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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CO, gas adsorbs on charcoal following Freundlich adsorption isotherm. For a given amount
of charcoal, the mass of CO, adsorbed becomes 64 times when the pressure of CO, is doubled.
The value of n in the Freundlich isotherm equation is x10~2 (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
TSR WA FCTRCTR] el T BIRCaral CO, A7 Wi 9 | fofed e racaeers
(@@ (71 (o, CO, & 17 el rpIeet R CO, € AN 64 @1 Y| Fefer TR
TR n @ WA x1072 (fbew geem)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of geometrical isomers possible in triamminetrinitrocobalt (If) is X and in
trioxalatochromate (IIT) is Y. Then the value of X+Y is .
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T ¢ (m)mmﬁfwmmwnwsmmﬂﬂ)CEWW‘FJ

Y1 O X+Y @3 Wi l
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In gaseous triethyl amme the “~C-N-C-" bond angle is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

degree,

gcollegedunlag
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



Question Type : SA

Correct Marks : 4 Wrong Marks : 0
fiesaea e (@s “—~C—N-C—" 3% @R T o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An organic compound is subjected to chlorination to get compound A using 5.0 ¢ of chlorine,
When 0.5 g of compound A is reacted with AgNO, [Carius Method], the percentage of
chlorine in compound Ais _ when it forms 03349 g of AgCl. (Round off to the

Nearest Integer)
(Atomic masses of Ag and Cl are 107.87 and 35.5 respectively)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

uestion Type : SA N
Q yp Qcollegedumag



Correct Marks : 4 Wrong Marks : 0

5.0 g IR 92 90, @y (i (AR (AT i 2 @22 (191 A 7181 T/ 1 405 ¢ A
61 AgNO, €31 Tt A 9 [ ] ¢e RIGRTe 7271 0.3849 g AgCl (SR W, A @A

@IRCT *Tel:M | (rebem i)

(Ag € Cl & TP B TAE 107.87 & 3))

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Mathematics Section A
SectionId: 864351828
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511055
Question Shuffling Allowed : Yes
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let Pand Q be two distinct points on a circle which has center at C(2, 3) and which passes
through origin O. 1f OC is perpendicular to both the line segments CP and CQ), then the
set{P, Q} is equal to :

Options :

 {(2+242, 3+ 45), (2-2V2, 3 - 5))

, (2 +242,3-45), (2-242, 3 +5)]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR O 9 &) 34 (7 0 71 C(2, 3)1 4 P8 QJalva & 72 fem fel o1 OC ey
CP 8 CQ R¥as Y 7| OTA (P, Q) 60> 2 ¢

Options :

A2 +2v2,3+5), (2-2v2,3 - 5)]

 A(2+2v2,3-45), (2-242,3 +5))

L (=15, 6, 1)

, 14,0), (0, 6)
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nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn m



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A A

—¥ A = A A A
leta=1i+j+2kand b =—-i +2j +3k. Then the vector product

(;+§)x ((;x ((;—g)x g))x E) is equal to :

Options :

P At M,
1 5(30:‘ ~5j +7k

s M Y
5 05 =857k

A A A)

, 5(34:‘ ~5j +3k

A At M,
. ?(34:‘ ~5j +3k)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A

- Al A =3 A M A
Wa=i+j+2kSb=-i+2j+3k!| O

(§+§)x((;x((;—g)xg))xg)ﬁ@ﬁ@ﬂmﬁwmz

Options :

M M M
5\30i —57 +7k |
1 collegedunias



A M M
5 2\ =By +7k

A A A)

; 5(34:‘ ~5j +3k

A A A
A 7\341 —5j +3k

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 11
If the coefficients of 1’ in (xz - bi] and 17 in [:c - bl—z] b # 0, are equal, then the
. X e

value of b is equal to :

Options :

. — 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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11 11

Wb#U,’Tﬁ[x2+l} & Tt o @3 TRl 8 - | e fefire 7 &g TR
by bx2

YR 38, SRR b & T o 4 ¢

Options :
1.~ 1

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the area of the bounded region

<x<?2

R=(myymMMb&ﬂ£y52ﬁ%

Eﬂﬂb&3‘1+mb&3ykwﬂmnﬂmxmhemﬂm+ﬁ—2ﬂzme¢mlm:

Options :
1. 1

gcollegedunlag
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1t

R=1(x, y):max{0, log,x} < y <2, % <1<

79 MRS R (% W alog,2) ™1+ Bllog,2) +, TR (ot - 2y) & T I T ¢

Options :
1.1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A=

12 |
1 J. I A~'=al+BA, o, B € R, Tisa 2x2 identity matrix, then 4(a—p) is
equal to:
Options :

1. 2

2. 4

3. 3 Qcollegeduniag



w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

12

wmmmm’ﬁwﬂm{_] 4

} T A~I=al+BA, o, B € R, T, T 4(a-p)
e 9
Options:

1. 2

2. 4

w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from the point P(-1, 1) to the circle 2%+ P-2- oy+6=0. If
these tangents touch the circle at points A and B, and if D is a point on the circle such that
length of the segments AB and AD are equal, then the area of the triangle ABD is equal to :

Options :
1. 2

gcollegedunlas
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2. 4
5 (3V2 +2)

. 3(V2 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P(~1,1) fa% 228 2+~ 2y +6=0 & TR 705 i3 OFT 211 € ™3 b 383
A & B e = a0a1 D feeqlh Jalba v @ @@ty o 2108 30 AB ¢ AD &8 (f T |
wraret ABD fagaiia (e 203 -

Options :
1. 2

2, 4
5 (3V2 +2)

. 3(V2 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Let C be the set of all complex numbers. Let

S,={z e C| |z—3-2i*=8},

S,={z e C| Re(z) =5} and

S,={zeC||z—-Z|=8}.

Then the number of elements in S; NS, N S; is equal to :

Options :
1. 0

.. Infinite

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 C 25 Sioa AMeslea b «ag
S;={z e C||z—3-2i*=8},
S,={z € C| Re(z) =5} ¢
S,={zeC||z-Z|=8].

ICEIG Slﬁszﬁsgﬂﬁ*ﬁﬁﬁﬁm!ﬁ:

Options :
1. 0

gcollegedunlaé
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4 SR

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the plane passing through the point (-1, 0, —2) and perpendicular to each of the planes
2t+y-z=2and x-y-z=3 be ax+by+cz+8=0. Then the value of a+b+c s equal to

Options :
1. 5

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
*ﬁl ax+by+cz+8=0@1ﬁ (-1 0 =2 ﬁ'ﬁﬁﬁ @R 2 ty-z=28 x-y-2=3 T TR
31 OH at+b+c W

Options:
1. 5

gcollegedunlas
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e f—
T|—

Let , B be two roots of the equation x* + 20)¢ x + (52 = 0. Then o® + B8 is equal to'

Options :
., 100
2. 10

3 20

4 160

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 1
R a8 B 2 +(20) x + ()2 =0 Fealva 12fb Fw1 wwE of + pOH :
Options :
. 100
> 10

3 20

4 160

Qcollegeduma@
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: (—E,f EJ — R be defined as

3a
|sinz|

(1+[siny) ,-=<x<0
flx)=" b .a=0

bl e e E T T
emt—h/thx C0<x< Z

If fis continuous at x =0, then the value of 6a +b?is equal to :

Options :
1 1+e

2. 1_e

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qcollegeduma@
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3a
|sina]

(1+ [siny]) —E <x<0
flx) =) b, x=0

. " m
eL0t4x/c0t21 C0<x< 1

A fSCrmD x =0 IS 7S 20 OIRCA ba+ b2 G WA W A :

Options :
1 1+e

4, €1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let

A={(x, y) e RXR | 262+2y2-2x -2y =1},
B={(x, y) e RXR | 4x*+4y>—16y+7=0} and
C={(x, y) e RXR | x2+ 1> —dx -2y +5 < 12},

Then the minimum value of |r| such that A u B c Cis equal to:

Options :

gcollegedunlag
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B 4 10

, 1++/5

2 4-J10

3 +245

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gq

A={(x, y) e RxXR | 2x2+2y2—2x—2y =1},
B={(x, y) €e RXR | 4x2+ 412 — 16y +7=0} @32
C={(x, y) e RxR | x>+ 1> —4dx -2y +5 < r?}.

T A U B C 28 ORCE |r| @ SR W 3 201 ¢

Options :

3+ 410
1, 2

, 1++/5

i T
3. 2

gcollegedunlag
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3+25

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the mean and variance of the fu]luwing data :

6, 10, 7,13, a,12, b, 12

37 : .
are 9 and == respectively, then (a—b)2 is equal to :

4
Options :

1. 16
2 12
3. 24

4. 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6,10,7,13,3,12,b,127f$?m@fﬂ?l61'\5\‘3W?MWF)\‘B1_7. T (2~ b)Y &8 T T

X
Options:
1. 16

Qcollegedumag
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4, 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d
Let y=y(x) be solution of the differential equation log, {d_v} =3y + 4y, with y(0)=0.
X

2
If y[- 5 lOgQQJ = a log,2, then the value of « is equal to :

Options :
1

. 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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loge[%]ﬂxﬂy, y(0)=0 9357 Fae3efhy «afh Twaw g y=y(x)1 A
X

-
y[-glogJJongJiﬂmaﬂawwm:

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
If sinf + cost = X then 16(sin(26) + cos(468) + sin(66)) is equal to :

Options:
1. 23

3 24

— 27
4. gcollegeduniag



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1
sinf + cosf = 5 2051 16(sm(20) + cos(40) +sin(60)) FT :

Options :
1. 23

2. =23
3 27

4. —27

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The probability that a randomly selected 2-digit number belongs to the set {ne N : (2"~2) is

a multiple of 3} is equal to

Options :
1

1. 2

N
W=

WM

Qcollegedumag
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O | =

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0 neN: (20-2) F 3 & Gea) GTH) 278 20TR) TRINEIa B3l 91 2 SIsTa9 4o 7l

gesleriRIER O REE R
Options :
1

1. 2

N
WM G | =

O | =

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Aray of light through (2, 1) is reflected ata point P on the y-axis and then passes through the

1
point (5, 3). If this reflected ray is the directrix of an ellipse with eccentricity 3 and the

distance of the nearer focus from this directrix is & then the equation of the other directrix

can be ;
Options :
. 2x—7y—39=0 or 2x—-7y—7=0

11x+?y+8=0 or 11x+?y—15=0

2.

3 2x—?y+29=0 or 2x—?’y—?=0
11x—?’y—8=0 or 11x+?y+15=0

4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(2,1) 2 fiofe &l wreirasil -8 U e @l oy P (o e 2231 5, 3) @3 B

o i, o o e e e e | e

@wﬁaﬁmm@%w@mwmﬁwm:

Options :
2x—7y—39=0 TR 2x—Ty—7=0
1.

5 1Ix+7y+8=0 9431 11x+7y—15=0

;
gcollegeduma@
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2 2x—7y+29=0 941 2x—7y—-7=0

, 11x=7y—8=0 911 11x+7y+15=0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The compound statement (P v Q) A (~P) = Q is equivalent to :

Options :

~(P=Q)

1

Z.PK\”Q

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
P v Q) A (~P) = Q Jfeh Teea @ RIfea srrgen 2

Options :

, "(F=Q)

2, PA~Q

, FP=Q) &SP AR=Q

gcollegedunlas
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2 PVvQ

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let f: R = R be a function such that f(2)=4 and f'(2)=1. Then, the value of

0N df(
[im M is equal to:
12 B

Options :
1. 4

2. 8

3 12

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- R — R Gl Gl W7 T 0 f(2) =4 e () = 1. T limzxsz_:ﬂx) AT
I= x-

LG
Options :
1. 4

2. 8

Qcollegeduma@
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3. 12

2. 16

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. 1 & (2j—1)+8n

The value of lim — ;

Z (27 —1) +4n

is equal to :

Options :

3
4] —
1, Dge[z}

1+ 2log., [%J

2.
2 —log, [E)
3. 3
3+ 2log., [E]
4. 3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n .
]jml z (2}. 1) + 8n
(2] —1) +4n

n—eo 1IN

GF e A 20T
=1

Options: Qcollegeduniag



5 + log. [%}

1+ 2log., [%J

2
2 —log, [—)
3. 3

3+ 2log., [%)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The value of the definite integral

ar
rr—r=
_{1[(1 + e¥05%) (gin*x + cos

4;‘()

is equal to :

Options:

. 242

ki
4

collegedunia:
3. Q ............. el .
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i dx

R
_.[%(1 + Exmsx) (sin4x i cos4x) RS TG W I 203

Options :

Mathematics Section B

Section Id : 864351829 M collegedunia



Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511056
Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a plane P pass through the point (3, 7, —7) and contain the line,

=2 y-3 z+2
-3 2

. 1f distance of the plane P from the origin is d, then d? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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-2 _y-3_z+42
=3 2 1

@ PFeAh (3, 7, ~7) R @ -

P & ey 2209 779 d 2 9ErA d ¢ ¥ T T3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2 i

sin“x —2 4+ cos“x Ccos2x
Let f(x)=1]2+ sin’x cos” x cos2x
si112x mszx 1+ cos2x

Then the maximum value of f(x) is equal to

TR P @9 S e, I

, x € [0, w].

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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2 2

sin“x —2 + cos“x cos2x
6 f(x)=[2+sin®x  cos®x cos2x |, x € [0, =].
si112x ccnszx 1+ cos2x

SIZCE f(x) G TS W W 23

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let F: [3 5] - R be a twice differentiable function on (3, 5) such that

Fr)=¢™ E(Stz + 2t +AF ()L,

neP - 24

If F(4)=  then a+p is equal to .
@ - e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Qcollegedunla
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0
@ F: [3,5] — R 9 7331 SN S¢S (3, 5) [0 129 &)

F(x) =™ E(E’,t2 + 2t + 4F (1)) dt.

aeP - 224

T F(4) =
() (P —)°

[, OA o+ P G T A A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

~ AA A = - A A e e
Let a=i+j+k band ¢ =j-k be three vectors such that 3 x b = ¢ and

5 - - - -
a * b =1. Ifthe length of projection vector of the vector b on the vector a X ¢ is/, then

the value of 3/ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AN A A= 9 =

= AA -
Ba=i+j+hbsc=- ke EHITWE 2 xp=¢ Ra-b=l

- 5
1 T b EF IR 2 X C TORTRE B 1 Y, 312 & IR T4l 2[4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the domain of the function

f(x) =logy (lc:g5(lcng3 (181: o ?’?))) be (a, b).

Then the value of the integral

_Lb sin® x P
(sin’x + sin®(a + b — x))

is equal to

Response Type : Numeric

Evaluation Required For SA : Yes gcollegedunias



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

% (a, b) T f(x) = logy (log5(log3 (18x —xt - 77))) TR FOW W | LG

Ib sin’ x i
a (sin’x +sin’(a + b= 1)) T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

, o7
If logs2, logs(2*~5), log, (23 = E] are in an arithmetic progression, then the value of x is

equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes .
collegedunias



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
. 7
T logz2, log,(2-3), Iogg,(f‘ - E] TR 49T TS WA v € T T 2 .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers « and B, consider the following system of linear equations :
x+y-z=2, x+2y+az=1, 20-y+z=p.

If the system has infinite solutions, then a+p is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1 ;
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0
{q, B@% 9 7147 ?Iﬁx+j/—z=2,x+2y+uz=1, -y +z=f & PRI WG A

O o+ W (A ;

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

LetS={1,2,3,4,5, 6, 7). Then the number of possible functions f: S - S such that
f{mn) =f(m)f(n) for every m,n e Sand m-ne Sis equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
@S={1,2 3,456 7. 0 3 @F FCHF (5 5 S 1197 M T

flovn)=f(m) f{n) 7 R WG m,neS mneS@HE M collegedunia



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

It y=y(x), ]{E{Uf %] is the solution of the differential equation

SeC j% - sin(x + y) - sin(x - y) =0, with y(0)=0, then Sy’G] is equal to .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

senj@ =sin(x +y) - sinfx - y)=0, y(0)=0 G PN CECIT A MEEEE y=1(),

g s e
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let f: [0, 3] = Rbe defined by

fi)=minfe-[1], 1+ -2}
where [x] is the greatest integer less than or equal fo x.

Let P denote the set containing all x € [0, 3] where fis discontinuous, and Q denote the set
containing all x € (0, 3) where fis not differentiable. Then the sum of number of elements in
P and Q i equal to :

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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[x] 28 3% e e <x| @ f: [0, 3] - RSl o R

f{x)=minfr=[x], 1+[x] -1}

@ P GRIWGx € [0, 3] 97 O AT fSPTGS 6 Q 7 GG ¢ (), 3) & G RN e
(5 W TA P 8 Q & AR WA WAL |

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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